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	���	� � �	���
 �� ��	�� #���	 Σ �� �������	�
	����	� ��	 !285 �� �����	 ��
 ��	

�������� �� ���� ������4����� �
���	� ��

	����
� �� w = Σ−11/(1′Σ−11) � ��	 �
�
�������

	�������
 ŵT ��
 ��	 !285 �������� �� 
	������� ��	 ������� ����
����	 ���
�� Σ ����

��	 �����	 ����
����	 ���
�� Σ̂ � ��	�

Σ̂ =
1
n

n∑
t=1

(
Rt − R̄

)(
Rt − R̄

)′
, *0+

��	
	 R̄ = 1/n
∑n

t=1 Rt 
	�
	�	��� ��	 �����	 �	�� �	���
 �� R1, . . . , Rn � ��	 ��
����	 ��

��	 !285 
	��
� ��

	����
� �� σ2 = w′Σ w = 1/(1′Σ−11) ��
 ��� �
�
������� 	�������


�� ���	� �� σ̂2
T = ŵ′

TΣ̂ ŵT = 1/(1′Σ̂−11) �

#���	 ��	 ��
������ �	����� ������ �

 �� �� %� �� �� �������	 �� ���� ��	 	�	�	�� �� ��	

��
������ �	����� �	���
 ������� ������ ����
������� B	 �����	 �� ���� ��	 �
�� 	�	�	��

��
 
	��	 wex := (w2, . . . , wd) � ��
 ����	��	��	 �	 ���
�
��	 ��	 (d − 1) × d ���
��

Δ := [1 −Id−1 ] � A� ����� ��	 ��	
���
 Δ� �	 ��� 	����� ������ �	��		� ��	 ��� ����������

��
 �������	� ���	 ���� (v1−v2) = −Δ′(vex
1 −vex

2 ) ��
 ��� �	���
� v1, v2 ∈ R
d ����	 	�	�	���

�

 �� �� %� 2�
	��	
� ��	 ��������� 
	���������� ���� �	 ��	��� �� ��	 ����	��	�� 
���������?

(v1 − v2)′A (v1 − v2) = (vex
1 − vex

2 )′B (vex
1 − vex

2 ) *&+

���� B := ΔAΔ′ ��
 ��� d × d ���
�� A � , �	� ���	 �� ��	 �
	�	�� ��
� �� ����

v′Σ v = σ2 + (v − w)′Σ (v − w) = σ2 + (vex − wex)′Ω (vex − wex) *F+

��
 	�	
� �	���
 v ∈ R
d ���� v ′1 = 1� ��	
	 Ω �� 
	��	
 �� Ω := ΔΣΔ′� ��	 �
�� 	�������

�� *F+ ��� �	 ������	
 �� ������ ���� Σw = 1/(1′Σ−11) ��
 ���� v′Σ w = 1/(1′Σ−11) =

σ2� ��	 �	���
 	������� ������� �
�� ��	 �
���	��� ���	� ����	�

�� ��	 ��������� χ2
k(λ) 
	���	� � ����	��
�� χ2�
���
����	
 
��
�� ��
����	 ���� k ∈ N


	�
		� �� �
		
�� ��
 ����	��
����� ��
��	�	
 λ ≥ 0 � ���� �	��� χ2
k(λ) ∼ X ′X ����

X ∼ Nk(θ, Ik) ��
 θ ∈ R
k� ��	
	 ��	 ����	��
����� ��
��	�	
 �� 
	��	
 �� λ := θ′θ/2 � A�

����
���� χ2
k ����
� ��
 � �	��
�� χ2�
���
����	
 
��
�� ��
����	 *��	� λ = 0+ ��
 �	 ����


	��	 χr
k(λ) :=

{
χ2

k(λ)
}r/2

��
 ��� r ∈ Z � 2�
	��	
� �	� χ2
k1

(λ) ��
 χ2
k2
���� k1, k2 ∈ N

�	 �������������� ��
	�	�
	��� ��	� Fk1,k2(λ) ∼ (k2/k1)
(
χ2

k1
(λ)/χ2

k2

)
��� � ����	��
�� F �


���
������� ���� k1 ��
 k2 
	�
		� �� �
		
�� �� �	�� �� ����	��
����� ��
��	�	
 λ ≥ 0 �

$�� ������	 ���� X1, . . . , Xm �
	m ��
	�	�
	�� ����	� �� X ∼ Nq(0 , Σ)� ��	
	 0 
	���	�

� �	���
 �� 4	
�� ��
 Σ �� � �������	�
	����	 q × q ���
��� ��	� ��	 q × q 
��
�� ���
��

F



Wq(Σ, m) ∼ ∑m
i=1 XiX

′
i ����	��	� � q�
��	������� B����
� 
���
������� ���� ����
����	

���
�� Σ ��
 m 
	�
		� �� �
		
��� ��
��	
��
	� x+ := max{x, 0} 
	���	� ��	 �������	
��
� ��
 x− := −min{x, 0} ��	 �	�����	 ��
� �� x ∈ R � C	� A �	 ���	 �������	�
	����	

q×q ���
��� ��	� A
1
2 
	�
	�	��� ��	 �����	 ����	�
���� q×q ���
�� ���� ���� A = A

1
2 A

1
2 �

�������� x ∝ y �	��� Mx �� �
���
������ �� y. ��
 ‖ · ‖ 
	���	� ��	 6����
	�� ��
��

��� �������	� ��������
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���
	 ���	 ����
���� ��	�
	�� ����� ���� ���	 �� ���
� �� ��	 ���������

�	������� ��
��� �	 �
	�	�� ���	 	�	�	���
� �����������	 �
��	
��	� �� ��	 �
�
�������
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 ��	 !285 ��
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	���	
 ��������	�� , �
��� ��� �	 ����
 �� :	��� ��


2	��	� *0KKH+�

�	��� � -�	�'% ��
 .	��	� -�,,)//

����� ����	
��
�� �� �
 �� ��� n > d � ��� ��	
�� �
�������� 	����� Ω̂ 
� ΔR � ���

�������
��� ����	��
� ŵex
T �
� ��� ���� �����
� �
� ��� ���� 

���
��
 ������ � ��� ���

�������
��� ����	��
� σ̂2
T �
� ��� 	���	�	 �������� σ2 ������! ��� �
��
���� 
�

������"

��� n Ω̂ ∼ Wd−1(Ω, n − 1)� ����� Ω̂ := 1
n

∑n
t=1

(
ΔR − ΔR̄

)(
ΔR − ΔR̄

)′
#

��� ŵex
T | Ω̂ ∼ Nd−1

(
wex, σ2Ω̂−1/n

)
#

��� nσ̂2
T/σ2 ∼ χ2

n−d #

��� σ̂2
T �� ��
����������! ����
������ 
� Ω̂ ��� ŵex

T #

��	 ��������� ��	�
	� ���� ���� ��	 �	��
�� 
��	 �� ��	 
	�	����	�� �� ��	 ��
�����	 	����

����
 ��
 ��� 
�������	 �
��	
���

��	��	� �

$
������ � q×q ����
	 	����� W ∼ Wq

(
Ω, m

)
� ����� Ω �� � 

������%������� q×q 	������

q ≥ 3 ��� m ≥ q +2 � � q%��	����
��� ����
	 ����
� X ���� X |W ∼ Nq

(
ω, W−1

)
� �����

ω ∈ R
q �� �� ��&�
�� 
���	����� ��� � ����
	 �����'�� χ2 ∼ χ2

k ���� k ≥ 2 � �����

�� ��
����������! ����
������ 
� W ��� X# (������	
��� �
������ � �
�%��
������� ����
�

x ∈ R
q# (
� ��� 0 < c < 2 (q − 2)/(k + 2)� ��� �����&��� ����	��
�

XS = x +
(

1 − c χ2

(X − x)′W (X − x)

)
(X − x)

G



�
	������ ��� ����	��
� X ���� ���
��� �
 ��� �
�� ������
�

Lω,Ω

(
ω̂
)

=
(
ω̂ − ω

)′Ω (
ω̂ − ω

)
, *G+

�#�# 6
{
(XS − ω)′Ω (XS − ω)

}
< 6

{
(X − ω)′Ω (X − ω)

}
# )� ���� x = ω ��� ��
����� �
��


� ��� �����&��� ����	��
� '��
	�� 	���	�� �� ��� 
��! �� c = (q − 2)/(k + 2) #

5
���? #		 ��	 ���	�
���

$��	 ���� ��	�
	� % ������
	� ���� ��	 �	�������� 
	���� 
	�	���	
 �� #�	�� *%JGH+ �� W

�� ���������	
 �� ��	 �
	����� ���
�� Iq � '��	
 	��	������ �� #�	��.� ��	�
	�� ����� ���

�	 ����
 �� ��	 ���	
���
	� 
	���
	 ���� W ��

	����
 �� � �������������� ��� ���	
����	

���
�� Ω � �
 �� �	��� ���� W �	 �������������� ��
	�	�
	�� �� X ��	
	 Ω �� �����	
����	

*"�
�	 ��
 A��� *%JLI� �� %LL+� #
�������� ��
 A���
	�� *%JIJ+� ��
 5
	�� *0KKG� �� %IJ++�

A� ����
���� �	 ����� X �� 
	�	�
 �� � B����
��
���
����	
 
��
�� ���
�� W � ��� ��	

���
�� Ω ���	� �� ��	�
	� % 
	����� �����	
����	�

��	�
	� % ���� ���
��	� ��� ��	 ��
�����	 �������� c = (q− 2)/(k +2) �� � ����
�� �����	�

,������� ��� �������� ������ ��	 ���	
��� ���	� �� ��	�
	� % ����
 �	�
 �� � 
�������

	�������
� ���� c = (q − 2)/(k + 2) ��
�� ��� �� �	 ��	 �	�� �����	 �� ��	 
	�	
	��	 �	���


x ��

	����
� �� ��	 ������� ��
��	�	
 ω� ��	 ���	 ����	 ��
 c 
	����� ������� �� ��	

��
����� �� #�	��.� ��	�
	� ��	
	 W �� �������������� �
 �������������� ��
	�	�
	�� �� X�

��� �
����������� �����	��

��	 ������������	 ��
����	 �� ��	 
	��
� �� � ���������� ��
������ v̂ �� 
	��	
 ��

8�

(
v̂ ′R

)
= 6

{
8�
(v̂ ′R | v̂)

}
+8�


{
6(v̂ ′R | v̂)

}
= 6

(
v̂′Σ v̂

)
+ μ′8�


(
v̂
)
μ .

���� �	��� ��	 ����� ��
����	 �� ��	 ��
������ v̂ ��� �	 ����� ���� � ������ ��
����	 6
(
v̂′Σ v̂

)
��
 � �	��		� ��
����	 μ′8�


(
v̂
)
μ � 1�	 �� *F+� �� ���
� ����

8�

(
v̂ ′R

)
= σ2 + 6

{
(v̂ − w)′Σ (v̂ − w)

}
+ μ′8�


(
v̂
)
μ . *H+

7	��	� ��	 ������� ��
����	 σ2 �� � ���	
 ����
 ��
 ��	 ������������	 ��
����	 �� ���

���	� ��
������ v̂ � ���	
	�������� ��	 �	��		� ��
����	 μ′8�

(
v̂
)
μ ������	� ��	�	�	
 ��	

H



	��	��	
 ���	� 
	��
�� �
	 	���� �� 	��� ���	
� ��	� μ = η 1 ��
 ��� η ∈ R � ���� ��� �	

�		� �� ������ ���� 8�
(v̂) = Δ′8�
(v̂ex)Δ ��
 Δμ = 0 �� μ = η 1 �

:	��� ��
 2	��	� *0KKH+ ����	
 ���� ) ����	
���� ��	 �
�
������� 	�������
 ŵ ��
 ��	

!285 ) ��	 �	���
 ��
� �� *H+ ��

	����
� ��

6
{
(ŵT − w)′Σ (ŵT − w)

}
=

d − 1
n − d − 1

· σ2 .

��	 �����
 (d − 1)/(n − d − 1) �� ��
�	 ��	�	�	
 ��	 �����	 ��4	 n �� ����� �����
	
 ��

��	 ����	
 �� ���	�� d � ��
 n, d → ∞ ��� n/d → q ���� 1 < q ≤ ∞� ���� �����
 �	�
� ��
1/(q−1) � 7	��	 	�	� �� ��
�	 �����	� ��	 ����
������� �� ��	 	��������� 
��� �� ��	 �������

�����	 ��
����	 �� ��� �	�������	 �� ��	 M	-	����	 �����	 ��4	. q �� ������ ��
 �������	� ���	�

�� ���	���	�� ����	
�	 ���� d = 50 ���	�� ��
 � �����
� �� n = 100 ������� ���	
��������

��	 �

������� ��
����	 ����	
 �� ��	 	��������� 
��� �� 1/(100/50 − 1) = 100% �

�
�� ��	 �����������	 
���
������� �� ŵ �
	�	��	
 �� �
��� *0KKI+� �� ������� ���� ��	

���

 ��
� �� *H+ ��

	����
� ��

μ′8�

(
ŵT

)
μ =

r2
max − r2

GMVP

n − d − 1
· σ2 ,

��	
	 rmax 
	���	� ��	 #��
�	 
���� �� ��	 ����	����� ��
������ Σ−1μ /(1′Σ−1μ) ��
 rGMVP

��	 #��
�	 
���� �� ��	 !285�� ���� �	��� �� ���
� ����

8�

(
ŵ′

TR
)

=

(
1 +

d − 1
n − d − 1

+
r2
max − r2

GMVP

n − d − 1

)
· σ2 .

�� ���� �
������� ���������� ��	 
�-	
	��	 �� r2
max ��
 r2

GMVP ��
�� ��� �� �	 ���� �����	


���� ��	 ���	
���
 d − 1 *��
 	�	� ������	� �� μ = η 1+�

!	�	
����� �� 
	�����
�
 ���	� ��
�	�� ��	 	��	��	
 
	��
�� �
	������� 
� ��� 
�-	
 ��

�
	���� �� ��	 �
�����	�����E ��	 �	��		� ��
����	 �� ��	
	��
	 �	
� ����� �����
	
 �� ��	

������ ��
����	� 7	��	 �	 �	��	�	 ���� ��	 �	��		� ��
����	 μ′8�

(
v̂
)
μ ��
 ��� ��
������ v̂

�� �	�������	 �� ���� �
������� ���������� ��
 ���� ����	��
��	 �� ��	 ��������� �� 
	
�����

��	 ������ ��
����	 6
(
v̂′Σ v̂

)
� $��	 ���� 	��� 
	���4����� �� v̂′Σ v̂ 
	�
	�	��� ��	 ������


������� �� ��	 
	��
� �	������� �� ��	 ��
������ v̂� ����� ��� �		� ����	� �� ��	 ����� ��

�����
���� ���	
�������� ��
 �������	� ��	� 
�	 �� *F+� 	��� 
	���4����� �� (v̂−w)′Σ (v̂−w)

��� �	 ���	
�
	�	
 �� ���� ��
� �� ��	 ������ ��
����	 ����� �� ����	
 �� 	��������� 
����

�� ��	 ����	��	�� �������� ���� �������� ���� �	 
	�	

	
 �� �� ��	 ��

 �� v̂�

���� '����� ��
�� �� � ���
����� �� 
�� �����
�� ������ ��
��
 �������  � 
�� �
�
���� �����
��
�

L
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�����	 	�������
 ��
 ��	 !285 ���� 
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�
�������

	�������
� :	��� ��
 2	��	� *0KKH+ ���� ���� ��	 �
�
������� 	�������
 �� ��	 �	��

������	
 	�������
 �� ��	 ���	 �� /������ ��
����� 
���
����	
 ���	� 
	��
���� 7��	�	
� ��

��
	�
� 
������	
 	�
��	
� ���� 	�������
 ��� �	�
 �� � ���	 ������������	 ��
����	 �� ��	

��
������ 
	��
� �����
	
 �� σ2� ��	� ��	 �����	�� �� ��� �������	 ��
������ 
	��
� ��
����	��

�� ���� �	����� �	 ���� ��	 ��	 ��������� ��������� C	� ŵA �	 �� �
���
�
� ��
������� ��	�

σ2
A = ŵ′

AΣ ŵA �� ��	 ������ ��
����	 �� ��	 ��
������ 
	��
�� ��	
	�� σ̂2
A = ŵ′

AΣ̂ ŵA 
	���	�

��	 ��

	����
��� 	�������
� ���� �������� ���� �	 ��	
 ���� ��
 ���������� ��
 ����

���������� ��
�������� ��	� �� wA �� � �������������� ��
������� �� ���
� ���� σ2
A = w′

AΣ wA

��
 σ̂2
A = w′

AΣ̂ wA �

��	��	� �

*�


�� ���� ��� ����	
��
�� �� �
 �+ ��� ��������# ,�� ŵT '� ��� �������
��� ����	��
�

�
� ��� ���� w� ������� wR ∈ R
d ���� w′

R1 = 1 ���
��� �� ��'�����! ��������� 

���
��
#

$
������ ��� �����&��� ����	��
�

ŵS = κSwR +
(
1 − κS

)
ŵT *L+

����

κS =
d − 3

n − d + 2
· 1
τ̂R

,

����� τ̂R =
(
σ̂2

R − σ̂2
T

)
/σ̂2

T �� ��� ����	���� �������� �
�� 
� ��� ��������� 

���
��
 wR #

-�� �����&��� ����	��
� ŵS �
	������ ŵT ���� ���
��� �
 ��� �
�� ������
� Lw,Σ(v̂) =

(v̂ − w)′Σ (v̂ − w)� �#�#

6
{
(ŵS − w)′Σ (ŵS − w)

}
< 6

{
(ŵT − w)′Σ (ŵT − w)

}
.

5
���? #		 ��	 ���	�
���

��	 	�������
 ����	��	
 �� ��	�
	� 0 	������� ��	 ������� ��
����
	 �� "��	��#�	������	

��
�����	 	�������
�� �� �� � �	����	
 ��	
��	 �� � ���	� 
	�	
	��	 ��
������ ��
 ��	 �
�
��

������ 	�������
 ��
 ��	 !285� ��	 �	��	
 ��	 
	�	
	��	 ��
������ ��� ��	 ������ !285�

��
 ��
���
�� �� ������ ���� �� �
� �������
�� ��
��� �

��
� 
�� (��%)���*� �����  ��
��
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��	 �����	
 ��	 ������������	 ��
����	 �� ��	 ��
�����	 	�������
 ���� �	� B�	� �� ���	� ��

��
������ 
��	
��������� ������� ��� ���/	����	 �
 	���
���� ����
������ �� �	�� �� 
	��
���

����� �� ��	 ��
������ �	������ ��	 ���
� ����	���� wN := 1/d ��� �	 ��	�	
 �� � ����
��

�����	 ��
 ��	 
	�	
	��	 ��
������� 1�	 �� ��	 �
���	��� ���	� �� 1	2���	� 	� ��� *0KKL+�

��	
	 �
	 	�	� 
����� �� �� ��	��	
 ���	 �	
�	� ����
������ ��� �

 ��	��� ����
������ ��

���� ��
 �� wR = wN ����� �	
�	 �� � 
��	� B	 ���� ���	 ���� �� ���� ����� �� #	����� F�

��	��	� �

����� ��� ����	
��
�� 
� -��
��	 .� ��� ������'���
� 
� ��� �������� �
��

τ S =
σ2

S − σ2

σ2


� ��� �����&��� ����	��
� �
� ��� ���� ����� '! �/ ��
���� 
��! 
� ��� ��	'�� 
�


'�������
�� n � ��� ��	'�� 
� ������ d � ��� ��� �������� �
�� τR = (σ2
R − σ2)/σ2 
� ���

��������� 

���
��
# �
�� 
�������!� τ S ��� '� ��
�������� ��
����������! '!

τ S =
∥∥κSθ − (

1 − κS

)
V − 1

2 ξ
∥∥2

, *I+

���� ��! θ ∈ R
d−1 ���� ���� θ′θ = τR � ξ ∼ Nd−1(0, Id−1) � V ∼ Wd−1(Id−1, n − 1) � ���

κS =
d − 3

n − d + 2
· χ2

n−d(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
) .

0��� ξ � V � ��� χ2
n−d ��� ��


��� �
 '� 	������! ����
������#

5
���? #		 ��	 ���	�
���

1�	 �� ��	�
	� 0� ��	 ��
�����	 	�������
 �� 
������� �� ��	 �	��	 ���� 6
(
τ S

)
< 6

(
τT

)
�

��	
	 τT = (σ2
T − σ2)/σ2 
	�
	�	��� ��	 
	�����	 ���� �� ��	 �
�
������� 	�������
 ��
 ��	

!285� �� ��� �	 ����� ���� ��	 	��	��	
 
	�����	 ���� �� ��	 ��
�����	 	�������
 �� �

��
����� ���
	����� �������� �� τR ��
 ��� ������ �� ������	
 �� ��
 ���� �� τR = 0 � $��	

���� τR = 0 �
� 	������	����� θ = 0 ���
� �� ��
 ���� �� wR = w � ����	 Σ �� �������	�
	����	�

�� ���� ���	 �� ��
�� ��� ����

6
(
τ S

)
=

(
1 − d − 3

d − 1
· n − d

n − d + 2

)
d − 1

n − d − 1
.

A� ����
���� 6
(
τ S

) → 6(τT) ��
 τR → ∞ �

��������� ��	 �
���	��� ���	� �� "�
�	 ��
 A��� *%JLI� �� %I0+� �	 ��� �
� �� 
	
��	

��	 ������������	 ��
����	 �� ��	 ����	��	
 	�������
 �� 
	��
������ κS �� ����	� �����	


J



���� �
 	���� �� %� ��	� �� ������ κM := min{κS, 1} ����	�
 �� κS � ��	� ��	 ��

	����
���

��
�����	 	�������
 �� ���	� ��

ŵM := κMwR +
(
1 − κM

)
ŵT . *J+

��	 ��
�����	 �������� κM ��� ���� ������ ����	� �	��		� K ��
 %� ����� �
	�	��� ŵM

�
�� ������ ��	 �������	 ���� �� ŵT ��	�	�	
 τ̂R �� ������ ��	� ��	�	�	
 ��	 �
�
�������
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	�	
	��	 ��
������� ��	 �	�� ��	�
	� ����	� ���� ��	

��
��	
 ��
�����	 	�������
 
�	�� �� ����� �	�
 �� � �	��	
 ������������	 �	
��
����	�

��	��	� !

����� ��� ����	
��
�� 
� -��
��	 . ��� ����� ��� �
����
� 
� -��
��	 �� ��� ������'���
�


� ��� �������� �
��

τM =
σ2

M − σ2

σ2


� ��� 	
����� �����&��� ����	��
� �
� ��� ���� ����� '! �1 ��
���� 
��! 
� ��� ��	'��


� 
'�������
�� n � ��� ��	'�� 
� ������ d � ��� ��� �������� �
�� τR 
� ��� ��������� 

���
��
#

�
�� 
�������!� τM ��� '� ��
�������� ��
����������! '!

τM =
∥∥κMθ − (

1 − κM

)
V − 1

2 ξ
∥∥2

, *%K+

���� κM = min{κS, 1}� ��� �� �
��� ����

6
(
τM

)
< 6

(
τ S

)
< 6

(
τT

)
.
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��	
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�����	 	�������
 
������	� ��� ���� ��	 �
�
�������

	�������
 ��� ���� ��	 �����	 ��
�����	 	�������
 ���	� �� *L+� 2�
	��	
� �� ��� �	 �����

���� ��	 	��	��	
 
	�����	 ���� �� ŵM ��

	����
� ��

6
(
τM

)
= 6

[{(
1 − d − 3

n − d + 2
· χ2

n−d

χ2
d+1

)+}2
]

d − 1
n − d − 1

�� ��	 	�	�� ���� τR = 0 �
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��� *0KKI+� ��� d�
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���� � (d−q)�
��	������� ���	� ����	
�	 ���� ���� q ���	�
 	������� �����
����� *�	��
	� ��	

��
�	� �����
����+ �
	 ���������� ������	
 ��
 	��� ��
������ �� ��	 d − q ��������	 ���	���

�� ���� ���	 ����������� ,F ��
 ,G ���	 �� �	 �����	
 �� n ≥ d − q + 2 ��
 d ≥ q + 4 �

��
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��
	� ��	 ����	� 
	�	
	��	 ��
������ ���� ������� ��	 ���	� ���	�
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� �� �	�� �� ��	 �
�
�������

	�������
 �	�
 �� 4	
� �� ��	 ����	
 �� ���	�� d �� ��	
 ��� n → ∞ � 7��	�	
� ���� 
�	�

��� �	�� ���� ��	 �
	�	��	
 ��
�����	 	�������
� �
	 ������ �������������� 	������	�� ��

��	 �
�
������� 	�������
� ���� �� ����
�	
 �� ��	 �	�� ��	�
	��

��	��	� *

����� ����	
��
�� �� �
 �� �� �
��� ����

√
n

⎡⎢⎢⎢⎣
ŵT − w

ŵS − w

ŵM − w

⎤⎥⎥⎥⎦ d−→

⎡⎢⎢⎢⎢⎣
1

11{τR= 0}
(
1 − d−3

ξ′ξ

)
+ 11{τR> 0}

11{τR=0}
(
1 − d−3

ξ′ξ

)+
+ 11{τR> 0}

⎤⎥⎥⎥⎥⎦Λξ , n −→ ∞ ,

����� Λ �� � d × (d − 1) 	����� ���� ���� ΛΛ′ = σ2Σ−1 − ww′ ��� ξ ∼ Nd−1

(
0, Id−1

)
#
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��
 �������	� �
�� ��	 ���� ��	�
	� �� ������� ����

√
n
(
ŵT − w

) d−→ Nd

(
0, σ2Σ−1 − ww′) , n −→ ∞ ,

��
 ��	 ��
�����	 	�������
� �
	 �������������� 	������	�� �� ��	 �
�
������� 	�������
�

��	�
√

n
(
ŵT − ŵS

) p−→ 0 ��

√

n
(
ŵT − ŵM

) p−→ 0 , n −→ ∞ , *%%+

%%



���� �� wR �= w �� ��	 ���� ��	�
	� ���� �����	� ���� �� wR = w ��
 ��	 �����	 ��4	 �� ��
�	

*�����
	
 �� ��	 ����	
 �� ���	��+� ��	 ��
��	
 ��
�����	 	������	 ��

	����
� �� ��	

�
�	 !285 
������ ���� �
��������� Fχ2
d−1

(
d− 3

)
� ,
����	
��� ���� ����� �	 
	��

	
 ��

��
	�� ��	�
	������ ����	 �� ��� �� �	 �����	
 ���� wR �= w �� ���� �
������� �����������

���� ŵM ��	� �	��� �������������� 	������	�� �� ŵT �� ��	 �	��	 ���	� ����	�

#� ��
 �	 ���	 �����	
 �� ��	 	��	��	
 
	�����	 ����	� �� ��	 	�������
� ��
 ��	 !285 ����

�� ��
	�
� �	�����	
� ��	�	 ��������	� ������ �� ��	 �����	 ��4	 �	�
� �� �������� 7��	�	
�


�	 �� ��	 �	�� ��	�
	� �� �� �������	 �� ���	 ����	�	��� ����� ��	 
	�����	 ���� ���	�� �� d

�� ��	
 ��� n �	�
� �� ��������

��	��	� )

����� ����	
��
�� �� �
 �� �� �
��� ����

n

⎡⎢⎢⎢⎣
τT

τ S

τM

⎤⎥⎥⎥⎦ d−→

⎡⎢⎢⎢⎢⎣
1

11{τR=0}
(
1 − d−3

χ2
d−1

)2
+ 11{τR> 0}

11{τR= 0}
{(

1 − d−3
χ2

d−1

)+}2
+ 11{τR> 0}

⎤⎥⎥⎥⎥⎦χ2
d−1 , n −→ ∞ .
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�
	 ������ �����	
 ���� ��	 	��	��	
 ���� �� ��	 �
�
������� 	�������
 *����� ������� �
��

��	�
	� & ��
 ��	�
	� F+� � ���	� 
	���4����� �� τ S ��� ��
� ��� �� �	 �
	��	
 ����

τT � #�
�
�������� ��	�
	� H �����	� ����� ���� �� wR = w� ��	 �
��������� �� ���� 	�	��


�	� ��� ������ *	�	� ��������������+ ��� �	�
� �� Fχ2
d−1

{
(d− 3)/2

}
> 0 � ��
 	�����	� ��

��	
	 	���� d = 5 ���	��� ���� �
�	
�	 	-	�� ����
� ���� � �
��������� �� ���
������	�� 9%�

7��	�	
� ��	 ���	 ��	�
	� ����
�� ���� τM > τT �� �������������� ���������	� ���� ��

�����	
 �
������	 �� ��	 ��
��	
 ��
�����	 	�������
 ��	
 ��	 �����	 ��	�

,� ��
	�
� 
������	
 	�
��	
� �� ����� �	 �
�����4	
 ���� �� ���� �
������� ������������ ��

��
������ ��	�
� ��	 ����	
 �� ���	�� �� ��
�	 �����
	
 �� ��	 ����	
 �� ���	
�������� ��

��	 ��������� �	 ���� ���	������	 ��	 ���������� 
���
������� �� ��	 
	�����	 ���� ��������

���� n, d → ∞ ��� n/d → q ���� 1 < q ≤ ∞ � 7	
	 ��	 
	�����	 ���� �� ��	 
	�	
	��	

���
�����& 
�� ����� �� ������� + ������� 
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 ,--. ��
  � ���
 �
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"
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 ���� ��
���"�
���
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�	 ���	� ����	
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K K�% K�0 K�& K�F K�G
K

K�%

K�0

K�&

K�F

K�G

����
	 %? 6��	��	
 
	�����	 ����	� �� ��	 �
�
������� *���	+� �����	 *
	
+ ��
 ��
��	


*
���	
 �
		�+ ��
�����	 	�������
 ��
 n = 300 ��
 d = 100 �� �	�� �� ��	 
	�����	 ���� ��

��	 
	�	
	��	 ��
������ *�����+ ��
 ��	 ���������� ���� �������� L(τR , 3) *�	����+�

��
������ �� �����	
 �� �	 ��������E 
	���� ���� ��	 ����	
 q ��� �	 ���	
�
	�	
 �� ��	

	-	����	 �����	 ��4	� ��	 ��������� ��	�
	� ���	
�� ���� �� ��	 ���	� ����	
�	 �� ��
�	� ��	


	�����	 ����	� �� ��� !285 	�������
� �
	 �� ����	
 ���	
��������	���

��	��	� 0

����� ����	
��
�� �� �
 �� �� �
��� ����

τT
a.s.−→ 1

q − 1

�� n, d → ∞ '�� n/d → q ���� 1 < q ≤ ∞ # �
��
���� �
�������� ��� �����&��� ����	��
��

�
� ��� ���� �� �
��� ����

κS , κM
a.s.−→ 1

1 + qτR

�� ���� ��

τ S , τM
a.s.−→ L

(
τR, q

)
:=

τR

(1 + qτR)2
+

(
1 − 1

1 + qτR

)2 1
q − 1

�� n, d → ∞ '�� n/d → q ���� 1 < q ≤ ∞ #
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n → ∞ � d < ∞ n → ∞ � d → ∞ � n/d → q

q = ∞ q < ∞ q = ∞
τR = 0 τR > 0 τR = 0 τR > 0 τR ≥ 0

τT K K 1
q−1 > 0 1

q−1 > 0 K

τ S K K K 0 < L(τR, q) < 1
q−1 K

τM K K K 0 < L(τR, q) < 1
q−1 K

nτT χ2
d−1 χ2

d−1 ∞ ∞ ∞

nτ S

(
1 − d−3

χ2
d−1

)2
χ2

d−1 χ2
d−1 K ∞ ∞

nτM

{(
1 − d−3

χ2
d−1

)+}2
χ2

d−1 χ2
d−1 K ∞ ∞

����	 %? C�
�	������	 �
��	
��	� �� ��	 
	�����	 ����	� �� ŵT� ŵS� ��
 ŵM �

�� ��� �	 ����� ���� ��	 �
�������� ��

 	������� L �� ���
	����� �� τR� ��
 �� ���
� ����

L
(
τR, q

)
< 1/(q − 1) ��	�	�	
 q < ∞ � ��	� ��	 ��
�����	 	�������
� 
������	 ��	 �
�
��

������ 	�������
 ���� 
	��	�� �� ��	 ���������� ���� �� ��� ���� ��	 ����	
 �� ���	
�������

��� ���� ��	 ����	
 �� ���	�� �	�
 �� ������� ��
 ��	 	-	����	 �����	 ��4	 
	����� ����	�

2�
	��	
� �� ��
�� ��� ���� L
(
τR, q

)
> τR �� ��
 ���� ��

τR <
1
q
· 2 − q

q − 1
. *%0+

��	
	��
	� ��	 ��
�����	 	�������
� 
������	 ��	 
	�	
	��	 ��
������ ���	����� �� q ≥ 2

*�		 ����
	 %+�  ���	
�	��� �� �	
�� �� ��	 ���������� ���� ��	� �	���	 �����
��� ��
�	

���� wR �� q �	�
� �� % �
�� ����	� ����	 ��	 
��������
 ��
	 �� *%0+ ��	� �	�
� �� ��������

��	 ��
�	������	 �
��	
��	� �� ��	 
	�����	 ����	� �� ��	 !285 	�������
� ŵT � ŵS � ��


ŵM �
	 �����
�4	
 �� ����	 %�

��� ��� ��	 �� !�"����	�� #����$ %��������	

"���������� ��
 2� *0KK&+ �����4	 ���
�����	� �����
����� �� � �	��� �� �	��	���� ��	

������ �� 	��������� 	

�
� �� ��	 �����	 ����
����	 ���
��� ��	� ���� ���� ����� ���
��

���	� �����
����� �� 	������	�� �� �
�����
���� ��	 �����	 ����
����	 ���
�� ��
 ������ ����

�������� ��
 ����������� ��	 !285 �� ��	 ����� �� ��	 �������
���	
 �
�
������� 	�������


��
 ��	 !285� ��	 ��������� ��	�
	� ����	� ���� � ������
 �
���	�� ���
� ��
 ��	 ��
�����	

	�������
� �
	�	��	
 	�
��	
�

%F



��	��	�  

(
� ��! ��������� 

���
��
 wR ����� ������ � 

������%������� d × d 	����� Σ−1
R ���� ����

wR ∝ Σ−1
R 1 �� ���� �� 1′Σ−1

R 1 = 1′Σ̂−11 � ����� Σ̂ �� ��� ��	
�� �
�������� 	����� �����

'! 23# . ��� �� �� ����	�� ���� n > d # -�� �����&��� ����	��
�� �
� ��� ���� ��� '�

���������� '! �����

Σ̂−1
S := κSΣ−1

R +
(
1 − κS

)
Σ̂−1 ��� Σ̂−1

M := κMΣ−1
R +

(
1 − κM

)
Σ̂−1

�
� ��� �������
��� ���� ����	��
�� �#�#

ŵS =
Σ̂−1

S 1

1′Σ̂−1
S 1

��� ŵM =
Σ̂−1

M 1

1′Σ̂−1
M 1

.
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 �	�
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���	 ��
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	������ ���	� �� ��	�
	� I �������

� ����	��	�� ������� ���
������ ��	� 1′Σ̂−1
S 1 = 1′Σ̂−1

M 1 = 1′Σ−1
R 1 = 1′Σ̂−11 = 1/σ̂2

T �

#�����
 ��
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{
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{
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{
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+
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=
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=
1
2
·
[
6
{
χ−2

q+4(λ̂) |V }− 6{χ−2
q+2(λ̂) |V }]

,

����� ������� �
�� ��	 
	
������	 
��	 �� ���	 &0L �� "�
�	 ��
 A��� *%JLI+� ,��	


������������ h′(2λ̂) �� *%G+ ��
 ���	 
	��

���	�	��� �	 ������

6

[(
�
V −1 − λ

λ̂
· q

)
6
{

χ−2
q+2

(
λ̂
) |V }]

=

q − 1
m − q − 1

· 6
[

λ

λ̂

[
(q − 2λ̂)6

{
χ−2

q+2

(
λ̂
) |V }

+ 2λ̂6
{

χ−2
q+4

(
λ̂
) |V }]]

.

$�� ��	 �
�� ����	�	�� �� ��	 �	��� ���	�
� ���	
���	�� ���	
 �������� *%F+� #�����
���

�� �������� ��
 ��	 �������� h
(
2λ̂

)
= 6

{
χ−4

q+2(λ̂) |V }
��
 ����� *%&+� ��	 �	���
 ����	�	��

�� ��	 �	��� �	���	� ����
� Q�6�1�
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����% �% ��	��	� �

��	 ���� �������� Lω,Ω ��� �	 
	���
�����	
 ��

Lω,Ω

(
ω̂
)

=
(
ω̂ − ω

)′Ω (
ω̂ − ω

)
=

(
θ̂ − θ

)′(
θ̂ − θ

)
= Lθ

(
θ̂
)
,

��	
	 θ̂ := Ω
1
2 (ω̂−x) ��
 θ := Ω

1
2 (ω−x) � ,���

������ ��	 
��
�� �	���
X �� �
�����
�	


���� Y := Ω
1
2 (X − x) |V ∼ Nq

(
θ, V −1

)
���� V := Ω− 1

2 WΩ− 1
2 ∼ Wq

(
Iq, m

)
��
 ������
��

YS := Ω
1
2 (XS − x) =

(
1 − c χ2

Y ′V Y

)
Y .

,��	
 ���	 	�	�	���
� �
�����
�������� �� ��
�� ��� ����

Lθ(YS) = Lθ(Y ) −
{

2cχ2 · Y ′(Y − θ)
Y ′V Y

− c2χ4 · Y ′Y
(Y ′V Y )2

}
.

���� �	��� ��	 
��
�� ��
����	 YS 
������	� Y �� ��
 ���� ��

6
{Lθ(Y ) − Lθ(YS)

}
= 2ckE1 − c2k (k + 2) E2 > 0 , *%H+

��	
	

E1 := 6

{
Y ′(Y − θ)

Y ′V Y

}
��
 E2 := 6

{
Y ′Y

(Y ′V Y )2

}
.

7	��	� ��	 
�������	 
	���� �� ������	
 ��
 ��� c ���� 0 < c < 2/(k + 2) · E1/E2 ��
� ��

�
��	 ��	 ��	�
	�� �� ��� �� �	 ����� ���� E1/E2 ≥ (q − 2) � $�� �	 
	��	 Z := V
1
2 Y

��
 ζ := V
1
2 θ �� ���� Z |V ∼ Nq(ζ, Iq) � ��	� �� ���
� ����

Y ′(Y − θ)
Y ′V Y

|V ∼ Z ′V −1(Z − ζ)
Z ′Z

|V ��

Y ′Y

(Y ′V Y )2
|V ∼ Z ′V −1Z

(Z ′Z)2
|V .

A� �	����� φ(x) = x−1 �� ��	�
	� % ��
 ��	�
	� 0 �� "�
�	 ��
 A��� *%JLI� ��� &0%)&00+

��
 �������� ��
 λ = θ′θ/2 ��
 λ̂ = θ′V θ/2 �� ������� ����

6

{
Y ′(Y − θ)

Y ′V Y
|V

}
=

(
�
V −1

)
6
{

χ−2
q+2

(
λ̂
) |V }

+2λ6
{

χ−2
q+4

(
λ̂
) |V }

−2λ6
{

χ−2
q+2

(
λ̂
) |V }

.

#�����
��� �� �	����� φ(x) = x−2 �� ��	�
	� 0 ���	� �� "�
�	 ��
 A��� *%JLI� �� &00+�

�	 ��
 ����

6

{
Y ′Y

(Y ′V Y )2
|V

}
=

(
�
V −1

)
6
{

χ−4
q+2

(
λ̂
) |V }

+ 2λ6
{

χ−4
q+4

(
λ̂
) |V }

.

,��	
 ���	 
	��

���	�	�� ��
 �� ����������� �� *%F+ �	 ������

6

(
Y ′(Y − θ)

Y ′V Y
|V

)
= (q − 2) · λ

λ̂
· 6

{
χ−2

q

(
λ̂
) |V }

+(
�
V −1 − λ

λ̂
· q

)
6
{

χ−2
q+2

(
λ̂
) |V }

.

00



2�
	��	
� ���� �� ����������� �� *%&+ �� ���� ��
�� ��� ����

6

(
Y ′Y

(Y ′V Y )2
|V

)
=

λ

λ̂
· 6

{
χ−2

q

(
λ̂
) |V }

+
(
�
V −1 − λ

λ̂
· q

)
6
{

χ−4
q+2

(
λ̂
) |V }

.

$��� �
�� C	��� & �� ������� ���� E1 = (q − 2) E2 + ε ����

ε :=
(q − 1)(q − 2)

m − q − 1
· 2λ6

[
6
{

χ−4
q+2

(
λ̂
) |V }]

≥ 0 .

#���	 E1 ≥ (q − 2) E2 ���� E2 > 0 �� ������� ���� E1/E2 ≥ (q − 2) � ��
 x = ω �� ���
�

���� λ = 0 ��
 ���� E1 = (q − 2) E2 � ���� �	��� ��	 ������� �������� c �� ��	 ���

����

�������� ���	� �� *%H+ 
�	� ��� 
	�	�
 �� E1 �
 E2 � ��
��	
� �� �� �����	 ��
 ��

	����
�

�� c = (q − 2)/(k + 2) � Q�6�1�

����% �% ��	��	� �

C	��� % ��
 ��	�
	� % ��� �	 �
����� ���	��	
 �� ��	 ��������� �������������? m = n−1 �

q = d − 1 � W = n Ω̂/σ2 � X = ŵex
T � χ2 = n σ̂2

T/σ2� k = n − d � ��
 x = wex
R � ��	� ��	

��������

c =
q − 2
k + 2

=
d − 3

n − d + 2

�	�
� �� � 
��������� ��
�����	 	�������
 ŵex
S ��
 wex� ��4

ŵex
S = wex

R +

(
1 − d − 3

n − d + 2
· σ̂2

T

(ŵex
T − wex

R )′Ω̂ (ŵex
T − wex

R )

)(
ŵex

T − wex
R

)
.

$��	 ����

(ŵex
T − wex

R )′Ω̂ (ŵex
T − wex

R ) = (ŵT − wR)′Σ̂ (ŵT − wR)

��
 ����

σ̂2
T

(ŵex
T − wex

R )′Ω̂ (ŵex
T − wex

R )
=

σ̂2
T

(ŵT − wR)′Σ̂ (ŵT − wR)
=

σ̂2
T

σ̂2
R − σ̂2

T

=
1

τ̂R
.

1�	 �� ŵS = e1 − Δ′ŵex
S �� ������� ����

ŵS = wR +
(

1 − d − 3
n − d + 2

· 1
τ̂R

)(
ŵT − wR

)
= κS wR +

(
1 − κS

)
ŵT .

Q�6�1�
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����% �% ��	��	� �

,��	
 ���	 ������������ �	 ��
 ����

τ S = τR − 2
(
1 − κS

)
a +

(
1 − κS

)2
b ,

��	
	

κS =
d − 3

n − d + 2
· nσ̂2

T/σ2

(ŵex
T − wex

R )′(nΩ̂/σ2)(ŵex
T − wex

R )
,

a =
(ŵex

T − wex
R )′Ω (wex − wex

R )
σ2

��
 b =
(ŵex

T − wex
R )′Ω (ŵex

T − wex
R )

σ2
.

B��� θ = Ω
1
2 /σ (wex−wex

R ) � ξ ∼ Nd−1(0, Id−1) � ��
 V ∼ Wd−1(Id−1, n−1) � ��	 ��
�����	

�������� κS ��� �	 
	�
	�	��	
 ��

κS =
d − 3

n − d + 2
· χ2

n−d(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
)

�� �	�� �� a = θ′
(
θ + V − 1

2 ξ
)
��
 b =

(
θ + V − 1

2 ξ
)′(

θ + V − 1
2 ξ

)
� ��	
	 ξ � V � ��
 χ2

n−d �
	

�������� ��
	�	�
	��� 7	��	� τ S �� 	���� �� ��	 	��
	����� ���	� �� ��	 
���� ���
 ��
	

�� *I+� 2�
	��	
� �� ���
� ����

τ S =
∥∥O{

κSθ − (
1 − κS

)
V − 1

2 ξ
}∥∥2 =

∥∥κSη − (
1 − κS

)OV − 1
2 ξ

∥∥2

���� η := Oθ ��
 ��� �
�������� (d− 1)× (d− 1) ���
�� OE ���	 ���� ���� κS �� � ��������

�� V − 1
2 ξ ���� ��
���� ��	 ���

���� ��
�

(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
)

=
(
η + OV − 1

2 ξ
)′(OV O′)(η + OV − 1

2 ξ
)
.

��	 
��
�� ���
�� V ��� � 
�
��� 
���
�������� ��	� OV O′ ∼ V �� �	�� �� OV −1O′ ∼ V −1�

#�����
��� ξ ��� � ���	
���� 
���
�������� ��	� Oξ ∼ ξ � �� ������� ���� OV − 1
2O′ ∼ V − 1

2 ��


���� OV − 1
2 ξ ∼ V − 1

2 ξ � ���� �	��� ��
 ��� 
������� η �� θ �� ���
� ����

τ S ∼ ∥∥κSη − (
1 − κS

)
V − 1

2 ξ
∥∥2

.

6
��� ��	 
���
������� �� τ S 
	�	�
� ���� �� n� d� ��
 τR = θ′θ� Q�6�1�
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����% �% ��	��	� !

�
�� ��	 �
��� �� ��	�
	� & �� ������� ���� ��	 
���
������� �� τM� ���� �� ���� � ��������

�� n� d� ��
 τR � �� �
��	 ���� 6(τM) < 6(τ S)� ��	 
	�����	 ���� �� ��	 �����	 ��
�����	

	�������
 ��� �	 �
���	� ��

τ S = τR − 2 θ′V − 1
2
(
1 − κS

)(
V

1
2 θ + ξ

)
+

(
1 − κS

)2 ‖V 1
2 θ + ξ‖2

V .

#���	
(
1−κS

)
=

(
1−κS

)+−(
1−κS

)−
� ��	 
	�����	 ���� �� ��	 ��
��	
 ��
�����	 	�������


�	���	�

τM = τ S − 2 θ′V − 1
2
(
1 − κS

)−(
V

1
2 θ + ξ

)− {(
1 − κS

)−}2 ‖V 1
2 θ + ξ‖2

V .

7	
	 �� ���
� ����

6
[{(

1 − κS

)−}2 ‖V 1
2 θ + ξ‖2

V

]
> 0

��
 �
�� ��	�
	� % ���	� �� "�
�	 ��
 A��� *%JLI� ��� &0%+ �� ������� ����

6
{

θ′V − 1
2
(
1 − κS

)−(
V

1
2 θ + ξ

)}
= τR6

[{
1 − d − 3

n − d + 2
· χ2

n−d

χ2
d+1(τRχ2

n−1/2)

}−]
≥ 0 .

���� �	��� 6
(
τM

)
< 6

(
τ S

)
� ��	 �	���
 ��	������� 6

(
τ S

)
< 6

(
τT

)
�� � 
�
	�� ����	��	��	

�� ��	�
	� 0� Q�6�1�

����% �% ��	��	� *

��	 �
�
������� 	�������
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	�	��	
 �� ŵex
T = wex + σ Ω− 1

2 V − 1
2 ξ � ��	
	 V ∼ Wd−1(Id−1, n − 1) �� ��������������

��
	�	�
	�� �� ξ ∼ Nd−1(0, Id−1) � #���	
√

n V − 1
2 =

(
V/n

)− 1
2

a.s.→ Id−1 �� n → ∞ � �� ���
�

����
√

n
(
ŵex

T − wex
) a.s.−→ σ Ω− 1

2 ξ , n −→ ∞ .

��	 �
	�	��	
 	��
	����� ��
 ��	 ���������� ��
������ �� ŵT = e1−Δ′ŵex
T ������� �
�� ��	


	���������� σ2Δ′Ω−1Δ = σ2Σ−1 − ww′ *�
���� 0KKI+� ��
��	
� ��	 ��
�����	 	�������


��� �	 
	�
	�	��	
 ��

ŵex
S = wex

R +

{
1 − d − 3

n − d + 2
· χ2

n−d(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
)}{(

wex − wex
R

)
+ σ Ω− 1

2 V − 1
2 ξ

}
,

0G



��	
	 θ = Ω
1
2 /σ (wex − wex

R ) ��
 θ′θ = τR � ��������� ��	 �
��� �� ��	�
	� & �� ��� �	

�����	
 ���� θ =
(√

τR ,0
)
������� ���� �� �	�	
������ #���	

θ′V θ

n
= τR · χ2

n−1

n

a.s.−→ τR ,
2θ′V

1
2 ξ

n
= 2θ′(V/n)

1
2 ξ/

√
n

a.s.−→ 0 ,
ξ′ξ
n

a.s.−→ 0 , n −→ ∞ ,

�� ������� ����
(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
)
/n

a.s.→ τR �� �	�� �� χ2
n−d/n

a.s.→ 1 �� n → ∞ �

7	��	� �� ��	 	�	�� ���� τR > 0 �� ���
� ����

√
n · d − 3

n − d + 2
· χ2

n−d/n(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
)
/n

· (wex
R − wex

) a.s.−→ 0 , n −→ ∞ .

��
��	
� �� ��
	�
� �	�����	
 ����	�
√

n σ Ω− 1
2 V − 1

2 ξ
d→ σ Ω− 1

2 ξ ��
 ��{
1 − d − 3

n − d + 2
· χ2

n−d/n(
θ + V − 1

2 ξ
)′

V
(
θ + V − 1

2 ξ
)
/n

}
√

n σ Ω− 1
2 V − 1

2 ξ
a.s.−→ σ Ω− 1

2 ξ

�� n → ∞ � A� ����
���� �� τR = 0 ��
 ���� θ = 0 �� �	�� �� wex = wex
R �

d − 3
n − d + 2

· χ2
n−d(

θ + V − 1
2 ξ

)′
V
(
θ + V − 1

2 ξ
) =

d − 3
n − d + 2

· χ2
n−d

ξ′ξ

��
 ����	 χ2
n−d/(n − d + 2) a.s.→ 1 �� n → ∞ �

√
n
(
ŵex

S − wex
) a.s.−→

(
1 − d − 3

ξ′ξ

)
σ Ω− 1

2 ξ , n −→ ∞ .

#�����
 �
���	��� ���
 ��
 ��	 ��
��	
 ��
�����	 	�������
� ����	

min

{
√

n · d − 3
n − d + 2

· χ2
n−d/n(

θ + V − 1
2 ξ

)′
V
(
θ + V − 1

2 ξ
)
/n

,
√

n

}
a.s.−→ 0 , n −→ ∞ ,

�� τR > 0 ��
 ���	
���	

min

{
d − 3

n − d + 2
· χ2

n−d

ξ′ξ
, 1

}
a.s.−→ min

{
d − 3
ξ′ξ

, 1
}

, n −→ ∞ .

Q�6�1�

����% �% ��	��	� )
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��
������ �	���� ��
 ����������� ��	 
	�����	 ����	�� 	���

nτT =
√

n (ŵex
T − wex)′Ω

√
n (ŵex

T − wex)
σ2

.

$�� ��	 ��	�
	� ������� ���	
���	�� �� �������� ��	  ��������� 2������ ��	�
	� ��

��	 
	����� ����� �
	 ���	� �� ��	 �
��� �� ��	�
	� G ��
 ������ ����[
11{τR= 0}X + 11{τR> 0}

]2
= 11{τR= 0}X2 + 11{τR> 0}

��
 ��� 
��
�� ��
����	 X� Q�6�1�
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����% �% ��	��	� 0

1�	 �� ��	 �
��� �� ��	�
	� G �� ���
� ����

τT =
(ŵex

T − wex)′Ω (ŵex
T − wex)

σ2
= ξ′V −1ξ =

χ2
d−1

χ2
n−d+1

���� χ2
d−1 := ξ′ξ ��
 χ2

n−d+1 := χ2
d−1/ξ′V −1ξ � $��	 ���� (n − d) → ∞ �� n, d → ∞ ��


n/d → q � ���� �	���

τT =
d

n − d
· χ2

d−1/d

χ2
n−d+1/(n − d)

a.s.−→ 1
q − 1

, n, d −→ ∞ , n/d −→ q .

��
 �
����� ��	 ������ ��
	 ����	
�	��	 �� ��	 ��
�����	 ��������� κS ��
 κM � �����
	


θ =
(√

τR ,0
)
��
 ������	 ���� V

1
2 �� ��	  ���	��� 
��� �� V � ��	�

θ′V
1
2 ξ =

√
τR χn−1ξ1 .

��
��	
��
	� ���	 ���� (d − 3)/(n − d + 2) → 1/(q − 1) � χ2
n−d/(n − d) a.s.→ 1 �

θ′V θ

n − d
= τR · χ2

n−1

n
· n

n − d

a.s.−→ qτR

q − 1
,

2θ′V
1
2 ξ

n − d
= 2

√
τR · χn−1ξ1

n − d

a.s.−→ 0

�� �	�� ��
ξ′ξ

n − d
=

ξ′ξ
d

· d

n − d

a.s.−→ 1
q − 1

, n, d −→ ∞ , n/d −→ q .

$��� �� �������� ��	  ��������� 2������ ��	�
	�� �	 ������ κS , κM
a.s.→ 1/(1 + qτR) ��

n, d → ∞ ��
 n/d → q � #�����
��� ���	 ����

2θ′V − 1
2 ξ = 2

√
τR · ξ1

χn−d+1
= 2

√
τR · n − d

χn−d+1
· ξ1

n
· n

n − d

a.s.−→ 0

��
 ξ′V −1ξ
a.s.→ 1/(q − 1) �� n, d → ∞ ��
 n/d → q � A� 
	����� �� *I+ ��
 *%K+ �� ��
��

��� ����

τ S , τM
a.s.−→ τR

1 + qτR
−

(
1 − 1

1 + qτR

)
τR +

(
1 − 1

1 + qτR

)2(
τR +

1
q − 1

)
.

,��	
 � �����	 ����������� �� ��� �	 ����
 ���� ��	 ����� ��

	����
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The following Discussion Papers have been published since 2008: 

Series 1: Economic Studies 
 

 01 2008 Can capacity constraints explain 
   asymmetries of the business cycle? Malte Knüppel 
 
 02 2008 Communication, decision-making and the 
   optimal degree of transparency of monetary 
   policy committees Anke Weber 
 
 03 2008 The impact of thin-capitalization rules on Buettner, Overesch 
   multinationals’ financing and investment decisions Schreiber, Wamser 
 
 04 2008 Comparing the DSGE model with the factor model:  
   an out-of-sample forecasting experiment Mu-Chun Wang 
 
 05 2008 Financial markets and the current account – Sabine Herrmann 
   emerging Europe versus emerging Asia Adalbert Winkler 
 
 06 2008 The German sub-national government bond Alexander Schulz 
   market: evolution, yields and liquidity Guntram B. Wolff 
 
 07 2008 Integration of financial markets and national Mathias Hoffmann 
   price levels: the role of exchange rate volatility Peter Tillmann 
 
 08 2008 Business cycle evidence on firm entry Vivien Lewis 
 
 09 2008 Panel estimation of state dependent adjustment 
   when the target is unobserved Ulf von Kalckreuth 
 
 10 2008 Nonlinear oil price dynamics – Stefan Reitz 
   a tale of heterogeneous speculators? Ulf Slopek 
 
 
 11 2008 Financing constraints, firm level adjustment 
   of capital and aggregate implications Ulf von Kalckreuth 
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 12 2008 Sovereign bond market integration: Alexander Schulz 
   the euro, trading platforms and globalization Guntram B. Wolff 
 
 13 2008 Great moderation at the firm level? Claudia M. Buch 
   Unconditional versus conditional output Jörg Döpke 
   volatility Kerstin Stahn 
 
 14 2008 How informative are macroeconomic 
   risk forecasts? An examination of the  Malte Knüppel 
   Bank of England’s inflation forecasts Guido Schultefrankenfeld 
 
 15 2008 Foreign (in)direct investment and 
   corporate taxation Georg Wamser 
 
 16 2008 The global dimension of inflation – evidence Sandra Eickmeier 
   from factor-augmented Phillips curves Katharina Moll 
 
 17 2008 Global business cycles: M. Ayhan Kose 
   convergence or decoupling? Christopher Otrok, Ewar Prasad 
 
 18 2008 Restrictive immigration policy Gabriel Felbermayr 
   in Germany: pains and gains Wido Geis 
   foregone? Wilhelm Kohler 
 
 19 2008 International portfolios, capital Nicolas Coeurdacier 
   accumulation and foreign assets Robert Kollmann 
   dynamics Philippe Martin 
 
 20 2008 Financial globalization and Michael B. Devereux 
   monetary policy Alan Sutherland 
 
 21 2008 Banking globalization, monetary Nicola Cetorelli 
   transmission and the lending channel Linda S. Goldberg 
 
 22 2008 Financial exchange rates and international Philip R. Lane 
   currency exposures Jay C. Shambaugh 
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 23 2008 Financial integration, specialization F. Fecht, H. P. Grüner 
   and systemic risk P. Hartmann 
 
 24 2008 Sectoral differences in wage freezes and Daniel Radowski 
   wage cuts: evidence from a new firm survey Holger Bonin 
 
 25 2008 Liquidity and the dynamic pattern of Ansgar Belke 
   price adjustment: a global view Walter Orth, Ralph Setzer 
 
 26 2008 Employment protection and Florian Baumann 
   temporary work agencies Mario Mechtel, Nikolai Stähler 
 
 27 2008 International financial markets’ influence 
   on the welfare performance of alternative 
   exchange rate regimes Mathias Hoffmann 
 
 28 2008 Does regional redistribution spur growth? M. Koetter, M. Wedow 
 
 29 2008 International financial competitiveness 
   and incentives to foreign direct investment Axel Jochem 
 
 30 2008 The price of liquidity: bank characteristics Falko Fecht 
   and market conditions Kjell G. Nyborg, Jörg Rocholl 
 
 01 2009 Spillover effects of minimum wages Christoph Moser 
   in a two-sector search model Nikolai Stähler 
 
 02 2009 Who is afraid of political risk? Multinational Iris Kesternich 
   firms and their choice of capital structure Monika Schnitzer 
 
 03 2009 Pooling versus model selection for Vladimir Kuzin 
   nowcasting with many predictors: Massimiliano Marcellino 
   an application to German GDP Christian Schumacher 
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Series 2: Banking and Financial Studies 
 
 01 2008 Analyzing the interest rate risk of banks  
   using time series of accounting-based data: O. Entrop, C. Memmel 
   evidence from Germany  M. Wilkens, A. Zeisler 
 
 02 2008 Bank mergers and the dynamics of Ben R. Craig 
   deposit interest rates  Valeriya Dinger 
 
 03 2008 Monetary policy and bank distress: F. de Graeve 
   an integrated micro-macro approach T. Kick, M. Koetter 
 
 04 2008 Estimating asset correlations from stock prices K. Düllmann 
   or default rates – which method is superior? J. Küll, M. Kunisch 
 
 05 2008 Rollover risk in commercial paper markets 
   and firms’ debt maturity choice Felix Thierfelder 
 
 06 2008 The success of bank mergers revisited – Andreas Behr 
   an assessment based on a matching strategy Frank Heid 
 
 07 2008 Which interest rate scenario is the worst one for 
   a bank? Evidence from a tracking bank approach 
   for German savings and cooperative banks Christoph Memmel 
 
 08 2008 Market conditions, default risk and Dragon Yongjun Tang 
   credit spreads  Hong Yan 
 
 09 2008 The pricing of correlated default risk: Nikola Tarashev 
   evidence from the credit derivatives market Haibin Zhu 
 
 10 2008 Determinants of European banks’ Christina E. Bannier 
   engagement in loan securitization Dennis N. Hänsel 
 
 11 2008 Interaction of market and credit risk: an analysis Klaus Böcker 
   of inter-risk correlation and risk aggregation Martin Hillebrand 
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 12 2008 A value at risk analysis of credit default swaps B. Raunig, M. Scheicher 
 
 13 2008 Systemic bank risk in Brazil: an assessment of 
   correlated market, credit, sovereign and inter- 
   bank risk in an environment with stochastic Theodore M. Barnhill, Jr. 
   volatilities and correlations  Marcos Rietti Souto 
 
 14 2008 Regulatory capital for market and credit risk inter- T. Breuer, M. Jandačka 
   action: is current regulation always conservative? K. Rheinberger, M. Summer 
 
 15 2008 The implications of latent technology regimes Michael Koetter 
   for competition and efficiency in banking Tigran Poghosyan 
 
 16 2008 The impact of downward rating momentum  André Güttler 
   on credit portfolio risk  Peter Raupach 
 
 17 2008 Stress testing of real credit portfolios F. Mager, C. Schmieder 
 
 18 2008 Real estate markets and bank distress M. Koetter, T. Poghosyan 
 
 
 19 2008 Stochastic frontier analysis by means of maxi- Andreas Behr 
   mum likelihood and the method of moments Sebastian Tente 
 
 20 2008 Sturm und Drang in money market funds: Stehpan Jank 
   when money market funds cease to be narrow Michael Wedow 
 
 01 2009 Dominating estimators for the global Gabriel Frahm 
   minimum variance portfolio  Christoph Memmel 
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The Deutsche Bundesbank in Frankfurt is looking for a visiting researcher. Among others 
under certain conditions visiting researchers have access to a wide range of data in the 
Bundesbank. They include micro data on firms and banks not available in the public. 
Visitors should prepare a research project during their stay at the Bundesbank. Candidates 
must hold a PhD and be engaged in the field of either macroeconomics and monetary 
economics, financial markets or international economics. Proposed research projects 
should be from these fields. The visiting term will be from 3 to 6 months. Salary is 
commensurate with experience. 
 
Applicants are requested to send a CV, copies of recent papers, letters of reference and a 
proposal for a research project to: 
 
 
Deutsche Bundesbank 
Personalabteilung 
Wilhelm-Epstein-Str. 14 
 
60431 Frankfurt 
GERMANY 
 




